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/] ADBEDOHIE
import java.io.*;
public class Sample7_1
{
public static void main(String[] args) throws IOException
{
/] F—Ih—EADDER
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in, "Shift-3JIS"));
// F—M—FAND
System.out.println("EHZEANDLTIZS0 ");
int i;
i=Integer.parseInt(br.readLine());
switch(i) // Z¥ i [CKDNIBZDIR
{
case 1: // i M1 DEE,
System.out.println("1 DADSINFUIE, ");
break;
case 2: // iN2DEE,
System.out.println("2 BAADSNK U, ");
break;
default: // i1 TH2 TERNESE,
System.out.println("1 D2 ZAND LT EE), ");
break;
¥
}
k} J
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V—232—FHl
V=T 74 )L : Sample7_2.java

r// ADXZFDHIE

public class Sample7_2

{

public static void main(String[] args)

{

char c="'b"';

switch(c) // B c [CKDWIEZ DL
{
case 'a': // ch'a'DEE,
System.out.println("a Cd™");
break;
case 'b': // cHhV'b'DEE,
System.out.println("b TI™");
break;
default: // cHV'a' TE'b' TERNEE,
System.out.println("a CEb TEHDFIBA");

break;
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V—23— Rl
V=T 741 )L . Sample7_3.java

rV/ﬁEﬁ%¥®EEE§

public class Sample7_3

{
public static void main(String[] args)
{
System.out.println("!true = "+ (!true));
System.out.println("!false = " + (!false));
System.out.println("true && true = "+ (true && true));
System.out.println("true & false = "+ (true && false));
System.out.println("false && true = "+ (false && true));
System.out.println("false & & false = "+ (false && false));
System.out.println("true || true = "+ (true || true));
System.out.println("true || false = "+ (true || false));
System.out.println("false || true = "+ (false || true));
System.out.println("false || false = "+ (false || false));
}
\}
E{TEHE

Itrue = false

Ifalse = true

true && true = true
true && false = false
false && true = false
false && false = false

true || true = true
true || false = true
false || true = true
false || false = false
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V—23— Rl
V=T 741 )L . Sample7_4.java

(1) xxz - nzomE )
import java.io.*;
public class Sample7 4
{
public static void main(String[] args) throws IOException
{
/] F—h—FABDDERE
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in, "Shift-JIS"));
System.out.println("@&RIZIEBHETI N ¥nY N ZAD LT ZE0N ");
/] F—IN—FH5 1XFEAN
char ¢ = br.readLine().charAt(0);
if(c == "Y' || c =="'y") // YEEEyDES,
System.out.println("®H/RXTIEBHETIR, ");
else
{
if(c == 'N' || ¢ == 'n") // NEE[En EE,
System.out.println("&HRCIFLZHETIN, ");
else
System.out.println("Y D NZADLTLIZE0), ");
}
) [ = “
) 1 XPADEMDF —TR— RAS
\. /] F—R— FDEXFINEAT
String str = br.readLine();
/] F—M—ENDSBEZAND
int i = Integer.parseInt(br.readLine());
/] F—TR—EDBRBEAD
double d = Double.parseDouble(br.readLine());
/] F—h—FHo—XFZEAND
char ¢ = br.readLine().charAt(0);
RTEH
HIRTIEIBHETIN?
YDNZADULUTLZESL),
v &
HIRIEBHTI,

- 7/10 -



f.?‘ if XORBERORDBESEF || & switch XTHOHDOITLEBUTHELLS

V=T P4 )& : Ext7_1.java

(// ANTF « IZNXFOWIE 2

import java.io.*;

public class Ext7_1
{

public static void main(String[] args) throws IOException

{
/] F—M—FADDERE
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in, "Shift-JIS"));

System.out.println("@®/RICTIEBETI N 2¥nY BN ZAD LT E SN,

// F—M—FNH51XFZEAD
char ¢ = br.readLine().charAt(0);

switch(c)
{
case 'Y':
case 'y': // YEEFy DEE.
System.out.println("&H/RICIFBHETINR, ");
break;
case 'N':
case 'n': // NFEfEldn &,
System.out.println("®/SICIFLZMETINR, ");
break;
default:
System.out.println("Y DN ZADULUTLIZEL), ");

")s
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B> R : B2

J—RE | a==2 ? 10 : 20;
J—RfH | a>=0 ? 1 : 1.5;

Y —23— Rl
V=T 74 )UE : Sample7_5.java
4 . N )
/] 1BE - SEDHIRE
public class Sample7_5
{
public static void main(String[] args)
{
int i = 3;
/] B« SEDHIMA
String str;
str = ((i%2==0) ? "{BE" : "FH");
System.out.println("SZS5NICEHII "+str+"TI, ");
}
W J
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